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QUESTION 1

What is the primary reason for assigning role-based communities to routes advertised by different nodes? 

A. Perform policy based routing 

B. Prevent routing loops 

C. Reduce complexity 

D. Route filtering 

Correct Answer: D 

Reference:
https://www.cisco.com/c/dam/en/us/td/docs/solutions/Enterprise/Mobility/EPN/4_0/EPN_4_System_Concept_Guide.pdf 

 

QUESTION 2

SyncE clocking is provided at what OSI layer? 

A. Layer 3 

B. Layer 2 and 3 

C. Layer 1 

D. Layer 2 

Correct Answer: C 

 

QUESTION 3

What does SyncE mainly provides? 

A. SyncE provides for time of day synchronization 

B. SyncE provides for accurate frequency synchronization 

C. SyncE provides for phase synchronization 

D. SyncE provides for time of day 

Correct Answer: B 

 

QUESTION 4

What is the preferred method for frequency synchronization in a Unified MPLS for IP MBH Communication? 
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A. SyncE/IEEE 1588 

B. Local devices Clocking Sync 

C. IP MBH Communication doesn\\'t require Synchronization 

D. NTP 

Correct Answer: A 

 

QUESTION 5

Which type of backhaul network does the Cisco Unified RAN Backhaul use? 

A. SONET 

B. ATM 

C. IP MPLS 

D. TDM 

Correct Answer: C 
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